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Request for Comments - RFC 1407 € show controllers atm BE&32 A 35104 Cisco ATM A |
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PA-A3#show controllers atm 1/0/0

ATM1/0/0: Port adaptor specific information
Hardware is DS3 (45Mbps) port adaptor
Framer is PMC PM7345 S/UNI-PDH, SAR is LSI ATMIZER II
Framing mode: DS3 C-bit ADM
No alarm detected
Facility statistics: current interval elapsed 796 seconds
lcv fbe ezd pe ppe febe hcse
lcv: Line Code Violation

be: Framing Bit Error

ezd: Summed Excessive Zeros

PE: Parity Error

ppe: Path Parity Error

febe: Far-end Block Error

hcse: Rx Cell HCS Error
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MSgrLct,

router#show controller atm 3/0

Interfa
Hardwar

ce ATM3/0 is down<
e is RS8234 ATM DS3

[output omitted]

Framer Chip Type PM7345
Framer Chip ID 0x20
Framer State RUNNING

Defec
Defec

t FRMR OOF
t ADM OOCD

Loopback Mode NONE
Clock Source INTERNAL

DS3 S
Frami

TX cells 0
Last

crambling ON
ng DS3 C-bit direct mapping

output time 00:00:00

RX cells 1
RX bytes 53

Last

input time 1w6d
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Line Code Violations (LCV) 25558650
DS3: F/M-bit errors 401016

DS3: parity errors 2744053

DS3: path parity errors 1879710
DS3/E3: G.832 FEBE errors 3099127
T3/E3: excessive zeros 25689720
uncorrectable HEC errors 554
idle/unassigned cells dropped 0

LCV errored secs 392

DS3: F/M-bit errored secs 392

DS3: parity errored secs 389

DS3: path parity errored secs 389
T3/E3: excessive zeros errored secs 392
DS3/E3: G.832 FEBE errored secs 380
uncorrectable HEC errored secs 67

LCV error-free secs 0

DS3: F/M-bit error-free secs 0

DS3: parity error-free secs 3

DS3: path parity error-free secs 3
T3/E3: excessive zeros error-free secs 0
DS3/E3: G.832 FEBE error-free secs 12
uncorrectable HEC error-free secs 325
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Aug 11 02:54:46.243 UTC: $LINK-3-UPDOWN: Interface ATM2/0, changed state to down
Aug 11 02:54:47.243 UTC: SLINEPROTO-5-UPDOWN: Line protocol on Interface ATM2/0,
changed state to down

Aug 11 02:54:57.003 UTC: $LINK-3-UPDOWN: Interface ATM2/0, changed state to up
Aug 11 09:59:14.544 UTC: SLINEPROTO-5-UPDOWN: Line protocol on Interface ATM2/0,
changed state to up

. CIHI atm 7 & 4818 mf ChS T RALE HIAIK.

Aug 11 10:01:27.940 UTC: pmon_change 0x3E, cppm_change 0x53
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